th2 234 AB = Vi3cem, AC = 2cm

d o, oJKEC ¢] HolE +atofzt.

IS
2

® @ vz @)

oJKEC = oACFG o2&
OACFG =0JKEC =2x2 =14




Al O] Aol} 27 x— 14, x, x+4 Q) AHZFE 0] A2t

D 6 @ 10 ® 22 @ 30 @34

7H 1 Fo] x4+ 4 O] B R (x4 4)% = x? + (x — 14)?
X2+ 8x+4 16 = x% 4+ x2 — 28x + 196

x> —36x+180=0

(x=30)(x=6)=0

Lx=30E=x=6

I x— 14 > 09[4 x > 140]B2 x = 30°]t}.
wEhA] HIH O] Zdol= x4 4 = 34




tte 193 Zo] LACB = /CDB =
90° & of x &ty O] FLE =ATHE HEE
A A2 AL

@5—%% © =
© = 4




60
13

RO

A A

s

]

ol

i dol7t

9]

= meparzks Ao 9

247t goln

]

A
=]

60
13

Z,12x5=13h O|E& h =




0]
1
/
12cm
> = cm
> MEFD 1242 em
St WO Zdo|E g 2Fal o1
V2a =24 0|E&
a2 e =12V2 (cm)

N




TS 1ol CALAB , DBLAB©] 1,
AP EAB HE 242tk CA = 3em,
DB = 5cm , AB = 12cm & o, CP + PD
ol H&L aVvbem B S W, a+ b 9
&% Fotolel. (@, bt Hae Aas)

> &

> He: a+b=17

t}S 139 CDr ©] 3= 2453t D
ojt.

CD/ = V8Z+122 = 4VI3cm ©|
ct.




HZHAd Aol7t 36 cm Q1 KA <ol %

T 27} ik, o] P9 Rl g Fafelel,

= cm

| 2
> HE . 864 V3rem?

~&B

A5HA 9 7 BAE| 9] dolF qztal SHH
V3a = 36 s a=12V3 (cm)
(] WF2A59] do]) =6 V3 (cm)

(F9] Fa]) = %ln'x (6 \/§>3 =864 V3r (cm?)




